

|    |                                                                                                                                                                                                                                                                                                                                                                                                                                                                                                               |
|----|---------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------------|
| ۱  | $g(n) = f(\tan n + \sqrt{2} \cos n) \Rightarrow g'(n) = f'(\tan n + \sqrt{2} \cos n) \times (\sec^2 n (1 + \tan^2 n) - \sqrt{2} \sin n)$<br>$\Rightarrow g'(\frac{\pi}{4}) = f'(\frac{\pi}{4}) \times (\sqrt{2} - 1) = \sqrt{2} \Rightarrow f'(\frac{\pi}{4}) = \frac{\sqrt{2}}{\sqrt{2}-1}$ ✓                                                                                                                                                                                                                |
| ۲  | $f(n) - \sqrt{2}g(n) = \frac{\sqrt{2} + \cos n}{1 - \cos n} (1 + \cos^2 n - \sqrt{2} \cos n) - \frac{f}{1 - \cos n} = \frac{\cos n (\cos n - \sqrt{2})}{1 - \cos n} = -\cos n \Rightarrow f'(n) - \sqrt{2}g'(n) = \sin n$<br>$\Rightarrow f'(\frac{\pi}{4}) - \sqrt{2}g'(\frac{\pi}{4}) = \sin \frac{\pi}{4} = \frac{\sqrt{2}}{2} \Rightarrow f'(\frac{\pi}{4}) = \frac{1}{\sqrt{2}} + \sqrt{2} \times \frac{\sqrt{2}}{2} = \frac{1}{\sqrt{2}} + 1$ ✓                                                         |
| ۳  | $x = \frac{\pi}{4} \begin{cases} f(n) = (n-3)\sqrt{n} \Rightarrow f'(\frac{\pi}{4}) = \sqrt{\frac{\pi}{4}} - \frac{3}{2\sqrt{\frac{\pi}{4}}} = \sqrt{\frac{\pi}{4}} - \frac{3}{\sqrt{\pi}} \\ f(n) = -(n-3)\sqrt{n} \Rightarrow f'(\frac{\pi}{4}) = -\sqrt{\frac{\pi}{4}} + \frac{3}{2\sqrt{\frac{\pi}{4}}} = -\sqrt{\frac{\pi}{4}} + \frac{3}{\sqrt{\pi}} \end{cases}$<br>$\Rightarrow  f'(\frac{\pi}{4}) - (-f'(\frac{\pi}{4}))  = \frac{\sqrt{\pi}}{2} = \frac{1}{2}\sqrt{\pi} = \frac{1}{2}\sqrt{2\pi}$ ✓ |
| ۴  | $y + ax = 2 \Rightarrow y = -ax + 2 \Rightarrow \begin{cases} f'(t) = -a \\ f(t) = -at + 2 \end{cases} \Rightarrow f(t) + f'(t) = -at + 2 - 1 = a - 1 \Rightarrow a = \frac{2}{a} \Rightarrow f'(t) = -\frac{2}{a}$ ✓                                                                                                                                                                                                                                                                                         |
| ۵  | $y = \frac{ax-1}{x^2+1} \Rightarrow y' = \frac{ax-1}{x^2+1} = x+a \Rightarrow Van-V = x^2+1 \Rightarrow x^2+1 \cdot x+a = 0 \Rightarrow x^2+(1+a)x+1=0$<br>$\Rightarrow 1+a+1=0 \Rightarrow a=-2 \Rightarrow x^2-1=0 \Rightarrow x=1, -1 \Rightarrow y=1, -1$<br>$\Rightarrow a=f$ ✓                                                                                                                                                                                                                          |
| ۶  | $\begin{cases} f(x)=0 \Rightarrow 1+x-a-b=0 \Rightarrow b=1+x \\ f'(x)=0 \Rightarrow f'(x)=x^2+a \Rightarrow f'(x)=1+a=0 \Rightarrow a=-1 \end{cases} \Rightarrow b-a=1-(-1)=2$ ✓                                                                                                                                                                                                                                                                                                                             |
| ۷  | $f(n) = \sin^n(x) \Rightarrow f'(n) = n \sin^{n-1}(x) \times \cos(x) \times x^n$<br>$\lim_{n \rightarrow \infty} \frac{f(n)f'(n)}{(1-\cos n)^n} = \lim_{n \rightarrow \infty} \frac{\sin^n(n) \times n \sin^{n-1}(n) \times \cos(n) \times n^n}{(1-\cos n)^n} = \lim_{n \rightarrow \infty} \frac{n^{2n} \sin^n(n) \cos(n)}{(1-\cos n)^n}$<br>$\Rightarrow 2m+n = 2(\frac{1}{2}) + 2 = 9$ ✓                                                                                                                   |
| ۸  | $f(n) = \frac{\sqrt{n}+1}{\sqrt{n}-1} \Rightarrow f'(n) = \frac{\frac{1}{2\sqrt{n}}(\sqrt{n}-1) - \frac{1}{\sqrt{n}}(\sqrt{n}+1)}{(\sqrt{n}-1)^2} = \frac{1}{2\sqrt{n}} \frac{(\sqrt{n}-1)-2(\sqrt{n}+1)}{(\sqrt{n}-1)^2} = \frac{-1}{\sqrt{n}(\sqrt{n}-1)^2}$<br>$\Rightarrow f'(\frac{1}{2}) = \frac{-1}{\frac{1}{2}(\frac{1}{2}-1)^2} = \frac{-1}{\frac{1}{2} \times \frac{1}{4}} = -2$ ✓                                                                                                                  |
| ۹  | $f(n) = (n^2+1)^{\frac{1}{2}}(an+1) \Rightarrow f'(n) = \frac{1}{2}(n^2+1)^{-\frac{1}{2}}(2n) \times (an+1) + (n^2+1)^{\frac{1}{2}} \times a$<br>$\Rightarrow f'(1) = \frac{1}{2}(1+1)^{-\frac{1}{2}}(2) \times (a+1) + (1+1)^{\frac{1}{2}} \times a = \frac{1}{\sqrt{2}}(a+1) + \sqrt{2}a = \frac{1}{\sqrt{2}} + \frac{3}{\sqrt{2}}a$ ✓                                                                                                                                                                      |
| ۱۰ | $y = \sin x \cdot \cos^2 x \Rightarrow y' = \cos x \cdot \cos^2 x - \sin x \cdot 2 \cos x \sin x = \cos^3 x - 2 \sin^2 x \cos x$<br>$y = \sin^4 x - \cos^4 x = -\cos^2 x$<br>$\Rightarrow \frac{-\frac{f}{2}}{\frac{f}{2}} = -1$ ✓                                                                                                                                                                                                                                                                            |

$$\varphi^{-1}(r) = t \rightarrow \varphi(t) = r \rightarrow \sqrt{t+1} = r\sqrt{t} - r \rightarrow \sqrt{t} = r \rightarrow t = 9$$

$$\varphi^{-1}(r)' = \frac{1}{\varphi'(9)} \quad , \quad \varphi'(r) = \frac{-r}{(\sqrt{r}-1)^2} \times \frac{1}{r\sqrt{r}}$$

$$\varphi'(9) = \frac{-r}{(r)^2} \times \frac{1}{4} = -\frac{1}{12} \rightarrow \varphi^{-1}(r)' = -12$$